



St. Louis County, Minnesota

Date of Report: 12/16/2025 1:35:22 PM

General Details

 Parcel ID:
 275-0010-01186

 Document:
 Abstract - 1139216

 Document Date:
 06/30/2010

Legal Description Details

Plat Name: BREVATOR

Section Township Range Lot Block

6 50 17 -

Description: THAT PART OF GOVT LOTS 4 & 5 BEG AT PT OF INTERSECTION OF W LINE OF SEC 6 & NLY R/W LINE OF

US HWY #2 THENCE S80DEG23'48"E ALONG SAID NLY R/W LINE 308.18 FT TO PT OF INTERSECTION WITH A LINE DRAWN PARALLEL WITH & DISTANT 304 FT E OF W LINE OF SAID SEC 6 THENCE N00DEG09'24"E ALONG SAID PARALLEL LINE 464.44 FT TO A PT ON S LINE OF SAID LOT 4 DISTANT 304 FT E OF SW COR OF SAID LOT 4 THENCE N00DEG42'51"E & A RIGHT ANGLE TO S LINE OF SAID LOT 4 216 FT TO PT OF INTERSECTION WITH A LINE DRAWN PARALLEL WITH & DISTANT 216 FT N OF S LINE OF SAID LOT 4 THENCE S89DEG17'09"E ALONG SAID PARALLEL LINE 300 FT THENCE N00DEG42'51"E 1091.16 FT TO N LINE OF SAID SEC 6 THENCE N88DEG02'17"W ALONG SAID N LINE 617.02 FT TO NW COR OF SAID SEC 6

THENCE S00DEG09'24"W ALONG W LINE OF SAID SEC 6 1738.34 FT TO PT OF BEG

Taxpayer Details

Taxpayer Name HOLZ JOSEPH S & KENNA

and Address: 8297 HWY 2

SAGINAW MN 55779

Owner Details

Owner Name HOLZ JOSEPH S
Owner Name HOLZ KENNA C

Payable 2025 Tax Summary

2025 - Net Tax \$3,391.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$3,476.00

Current Tax Due (as of 12/15/2025)

Due May 15 **Due October 15 Total Due** \$1,738.00 2025 - 2nd Half Tax \$1,738.00 2025 - 1st Half Tax Due \$0.00 2025 - 1st Half Tax 2025 - 2nd Half Tax Paid 2025 - 1st Half Tax Paid \$1,738.00 \$1,738.00 2025 - 2nd Half Tax Due \$0.00 2025 - 2nd Half Due 2025 - 1st Half Due \$0.00 \$0.00 2025 - Total Due \$0.00

Parcel Details

Property Address: 8297 HWY 2, SAGINAW MN

School District: 2142
Tax Increment District: -

Property/Homesteader: HOLZ, JOSEPH S & KENNA C

	Assessment Details (2025 Payable 2026)										
Class Code Homestead Land Bldg Total Def Land Def Bldg Net T (Legend) Status EMV EMV EMV EMV EMV Capac											
201	1 - Owner Homestead (100.00% total)	\$51,200	\$338,600	\$389,800	\$0	\$0	-				
111	0 - Non Homestead	\$13,500	\$0	\$13,500	\$0	\$0	-				
	Total:	\$64,700	\$338,600	\$403,300	\$0	\$0	3918				





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:35:22 PM

Land Details

Deeded Acres: 20.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

	dimensions shown are no s://apps.stlouiscountymn.					ons, please email Property1	ax@stlouiscountymn.gov.					
			Improve	ment 1 D	etails (HOUSE)						
ı	Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Desc.											
HOUSE 1994		1,80)4	1,804	AVG Quality / 754 Ft ²	RAM - RAMBL/RNCH						
	Segment	Story	Width	Area	Foundat	tion						
	BAS	1	0	0 0 8 CANTILEVER								
	BAS	BAS 1 12 24 288 PIERS AND FOOTINGS				OOTINGS						
	BAS	1	26	58	1,508	WALKOUT BA	SEMENT					
	DK	1	12	11	132	PIERS AND FO	OOTINGS					
	OP	1	6	32	192	PIERS AND FO	OOTINGS					
	Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC					
	2.25 BATHS	3 BEDROOM	IS	-		1 C	&AIR_EXCH, PROPANE					
			Improvem	ent 2 Deta	ails (ATTACHE	ED)						
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
	GARAGE 1994		720	0	720	-	ATTACHED					
	Segment	Story	Width	Length	Area	Foundat	tion					
	BAS	1	24	30	720	FOUNDA	TION					

	Improvement 3 Details (DETACHED)										
ı	Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.										
GARAGE		1992	1,14	14	1,144	-	DETACHED				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	1	26	44	1,144	FLOATING	SLAB				
	LT	1	14	42	588	FLOATING	SLAB				

	Improvement 4 Details (12X16 SHED)										
I	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
S	TORAGE BUILDING	1994	19	2	192	-	=				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	1	12	16	192	POST ON G	ROUND				
	LT	1	8	16	128	POST ON GR	ROUND				

	Improvement 5 Details (UNDER DECK)										
lı	mprovement Type	Year Built	ear Built Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
		1994	14	4	144	-	PLN - PLAIN SLAB				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	0	12	12	144	-					
_											





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:35:22 PM

		Improvem	ent 6 Det	ails (6X10 SH	IED)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Bas	sement Finish	Style C	ode & Desc
STORAGE BUILDING	1995	60)	60		-		-
Segment	Story	Width	Length	Area		Founda	tion	
BAS 1		6	10	60		POST ON G	ROUND	
		Improvem	ent 7 Det	ails (VERT. L	OG)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Bas	sement Finish	Style C	ode & Desc
SLEEPER	2005	19	2	192		-		-
Segment	Story	Width	Length	Area		Founda	tion	
BAS	1	12	16	192		POST ON G	ROUND	
		Improveme	ent 8 Deta	ils (PLAY HO	USE)			
Improvement Type		Main Flo	oor Ft ²	Gross Area Ft ²	Bas	sement Finish	Style C	ode & Desc
STORAGE BUILDING	2001	16	0	160		-		-
Segment	Story	Width	Length	jth Area		Founda	tion	
BAS	1	8	20 160			POST ON GROUND		
OPX 1		4	10	40		POST ON GROUND		
		Improver	ment 9 De	tails (22X24	ST)			
Improvement Type				Gross Area Ft ²	Bas	sement Finish	Style C	ode & Desc
STORAGE BUILDING 0			528 528		Foundation			
Segment	•	Width 22	Length 24	Area 528		Founda POST ON G		
BAS	1						ROUND	
	Sa	ales Reported	to the St.	Louis Count	ty Audito			
	Date		Purchase				/ Number	
06/2	2010		\$325,0			1	90325	
		As	ssessmen	nt History				
	Class Code	Land	Blo	dg	Total	Def Land	Def Bldg	Net Tax
Year	(Legend)	EMV	EN	ıv	EMV	EMV	EMV	Capacit
_	201	\$51,200	\$330	7	381,200	\$0	\$0	-
2024 Payable 2025	111	\$13,500	\$0	0 \$	13,500	\$0	\$0	-
	Total	\$64,700	\$330	,000 \$3	394,700	\$0	\$0	3,825.00
	201	\$44,300	\$301	,000 \$3	345,300	\$0	\$0	-
2023 Payable 2024	111	\$11,300	\$0) \$	11,300	\$0	\$0	-
	Total	\$55,600	\$301	,000 \$3	356,600	\$0	\$0	3,504.0
	201	\$36,400	\$302	,200 \$3	338,600	\$0	\$0	-
2022 Payable 2023	111	\$10,500	\$0	5	10,500	\$0	\$0	-
	Total	\$46,900	\$302	,200 \$3	349,100	\$0	\$0	3,423.0
	201	\$36,400	\$289	,300 \$3	325,700	\$0	\$0	-
-	111	\$10,500	\$0		10,500	\$0	\$0	-
2021 Payable 2022								





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:35:22 PM

Tax Detail History											
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV					
2024	\$3,353.00	\$85.00	\$3,438.00	\$54,809	\$295,628	\$350,437					
2023	\$3,589.00	\$85.00	\$3,674.00	\$46,173	\$296,161	\$342,334					
2022	\$3,915.00	\$85.00	\$4,000.00	\$46,014	\$282,259	\$328,273					

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.